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Segments PT and PA are
7 er fo Hwe drcle. T§
4P = 407 what is £TxA?
(Use the fact Hiatr +he sum

of the amgles i R
(s 3(00")%eS M a quadrilaters

Given Hhat < ABC = 60" ond

.A%CD = 70° and AB s \’Mg/(,ud’
Ao M decde, find L CBD.

For any briangle ABL,
we can exkend the sides of
e fviangles in one direckion
4o define exren O omg\es

= LFCA, £DAB ond £EBC -

(@) Show thak £ ECA=2BAY LBAC

(p) Show Haar fhe svm of e
exrevior c\v\ﬂ\es of o i (;una\e
is 36D



The fwo circles ave ’mm@ewl* of point .- Eoigis
BD and AC also wmberset o G. Show that

LE=LE

Quadrilateral ARCD 15
msaribed 1 a civele
LA=83"7 wWhat is 4C7?
Also, what can qu s

oboout  the velationship between
ZB and <D ¢
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